
 

D. Almost Acyclic Graph 
Zadanie pochodzi z platformy Codeforces:  

https://codeforces.com/contest/915/problem/D  

 

 
 
Examples 

input 

3 4 

1 2 

2 3 

3 2 

3 1 

output 

YES 

 
input 

5 6 

1 2 

2 3 

3 2 

3 1 

2 1 

4 5 

output 

NO 

 
Note 
In the first example you can remove edge , and the graph becomes acyclic. 
In the second example you have to remove at least two edges (for example,  and ) in 
order to make the graph acyclic. 

https://codeforces.com/contest/915/problem/D

